H & 0l & AHS B Ml A

AEREENES SN QBIARR
Zu: Lol 2Y X
el Qglzg dEXA (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
EEREE! 4,630,278 4,718,813 88,535
OIS AR =2 4,630,278 4,718,813 88,535
Xgelgl 29 K& 2,044,994 2,213,844 168,850
o2 HAEXA 446,269 461,309 A 15,040
O &M K& 112,524 169,824 A57,300
201 LEt2AH| 112,524 165,824 A53,300
01 AFR2teldl 106,320 103,500 2,820
Ogbt4=-2Y| 66,620
oMI120 B & ALIZE HIE
10,000,000 & * 14! 10,000
o3| 2ed AL MIE
1,000,000& *x53] 5,000
oOMEE XY ARE R
6,000,000 =14 6,000
oQl3|2H AldIE HIE
46,000& x50 2,300
oQl3letE 2B = M
20,000& *3500H*25 14,000
o OIS WAH MIE
20,0002 x50 2 #43| 4,000
<2|3| =& H& 3,000,000 * 1A 3,000
o Q& HEA HIE 15,0002 *1000H 1,500
oO|&A BZIH HIE 150, 000& * 10JH 1,500
o2& U ALIH MY 1,600 *5000H 800
oMAIE S48t HIE 60,0002 *20JH 1,200
COFFNE MNEFR=EZ
600,000+ 12& 7,200
oQl32HHEE MI& 40,000& x50 2,000
o3|9 & HI= 200,000& *10&] 2,000
o= R|IE 44| 330,000 *43] 1,320
S HEMAIAE SX24
400,000 x 128 4,800
OfIE N=H| 12,500
o X3 A& WFH| 500,000 »25H 12,500
o2g4 17,200
oY HMENE &%
300,000& x2H » 12& 7,200
oM XI=Z2R/R3 Fo AL
100,000 20 x23| 4,000
oHEAUSANISARS 31O HASY
100,000& *9H x23| 1,800
o FZ2IMAMAEARAE 3o FEAELH
100, 000& 7 H*23| 1,400
oUSACIE| RTINS MARIR EA
=& 100, 000& *7H *43] 2,800




2= 2BIMER A 1 QIR =
I Agelsl 28 A
el Qglzg dEXA (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH S Hnz=2
SErTArSRt T == B Ofl r =e
02 =228 S|
10,000,000& * 14 10,000
02 S3=gHl 6,204 12,324 26,120
O332= € Al 6,204
o= HYSE MEE
17,0002« 12& 204
QIR ME3lH MEZ
500,000& 122 6,000
SIYESANE RSAEY 49,500 49,500 0
202 04dl 49,500 49,500
04 =Xl=todb] 49,500 49,500
Oy xy ZHSRE HdAX At
3,000,000 x2H 6,000
OZAE A2 2 el H=
3,500,000& x1H 3,500
Odliele|ds = 40,000,000 x 14 40,000
ARl 2l 125,170 129,220 24,050
201 er23y| 35,170 29,220 5,950
01 AtR2t2|HI 20,170 9,220 10,950
OXe g x| 30,0002 3652 * 1€ 10,950
Ogxt= 7,800
od+J| & U0l &X=
570,000 x 122 6,840
o3J|IB3EI| itz
40,0003 #2CH+ 123 960
Oul=s| 1,420
cHYUTE 2R=E(oIE)
250,000 x2& 500
CHRAUTE 2R=E(s8=)
520,000« 1 520
ocHAHUIE 2FF B2
400,000 *14] 400
2 S524g4l 15,000 20,000 /5,000
OFAMAEE =X 2=
15,000,000 * 14| 15,000
401 AlEHIZ 2018 80,000 80,000
01 Al&H| 80,000 80,000
OFAL Al 2= & HH|
80,000,000 * 14 80,000
405 AtatE=H 10,000 20,000 10,000
01 TR =S FISHI 10,000 20,000 10,000
OFAL &I & =23+7E
10,000,000 * 14! 10,000
ASAE 22 113,135 53,985 59,150
201 er23 | 43,135 53,985 A 10,850
01 At2teltl 25,275 31,875 26,600
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A= QAR = A 1 QAR =
M Nz 29 N&
el celeg dynd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
QAR R EaE
100,000 x4 H+53] 2,000
oFEs A Ut 1,598,725 1,752,535 A 153,810
O 22| XHEAl WF 25t 10,000 20,000 210,000
301 LEBEF 10,000 20,000 210,000
09 2B =HNH| 10,000 20,000 210,000
O=2 WFRTAl CIAtEZ
10,000,000& *14! 10,000
oz 294l A& 1,316,735 1,292,535 24,200
205 2|3/H| 1,316,735 1,292,535 24,200
01 23 E sl 250,800 250,800 0
OoFRE 48 ¥ o7
900,000& x19H ~ 122 205,200
OEx&=| 200,000& x 198 123 45,600
02 &84 536,598 527,629 8,969
Osle =< 2,353,500& 19 » 123 536,598
03 SIS LHN LI 28,500 28,500 0
OclZgs & Mot &4
250,000& x 19 +632| 28,500
04 2|22 20| 63,650 63,650 0
O e&s =20t 3,350,000 19X 63,650
05 o E2H=SA| 157,970 150,500 7,470
OoFes(3E) 7,760,000 * 19 147,440
Ol a2 ARG 2H(SS)
1,170,000& 9L 10,530
06 23| 2R =AY 96,360 96,360 0
O 36,720,000&x1H 36,720
ORE 17,640,000& x1H 17,640
Qa3 E 12,000,000& *3H 36,000
ONZRAJE 6,000,000& 1 6,000
07 QRAAZNLH (S 32IE, MU LK) 10,000 10,000 0
O (22E) & MRS
10,000,000 14! 10,000
08 QAL (DI E) 14,250 14,250 0
OFMA AF A= (2I2H2(EL)
750,000 x 19 14,250
09 oI F L] 95,000 95,000 0
(OEIE_PSR Pl a] 5,000,000 19X 95,000
10 SIZEAM=REZ 18,000 11,000 7,000
OSI&CHE oI B2
18,000,000 14! 18,000
N o= ASEEZ 24,147 23,744 403
Ooa=tlds RE=
536,598,000& 4. 5% 24,147




A= Q9 AIR= A 1 QAR =
M Nz 29 N&
Bl ZEgs A 45 (SH9 H2)
2 - IE!
AR RN - BB S(EH) - MRS - BYS Ol v e HlRE2
12 AIAURESF 21,460 21,102 358
OolAALY 23
536,598,000 *3.545% 19,023
ORI Y L3
19,023,000& *12.81% 2,437
OIAH & o2 d XI” 44,790 164,200 A119,410
101 @124t 17,390 0 17,390
M IIZtHZ22SE+ 17,390 0 17,390
OJIZEHIZ2ZXHEIIAN s 17,390
=JllEgg 88,8002 x1H x150 13,320
oxsay 88,8002 1 +21 1,865
oIR8 88,800& x5 444
oRLINZ ARLIRES
15,629,000 *4. 5% 704
SULBHE MUFRLYD
15,629,0002 *3.545% 555
oHIYREHD AATRLS
554,050 *12.81% 71
oNE2H MAFRLZ
15,629,000 *1.75% 274
SHTSE AQERYD
15,629,0002 * 1% 157
201 et 25,000 25,000
02 3244l 25,000 25,000
OFXSIAAE RAES EA
2,500,000& *10& 25,000
202 04d| 2,400 4,200 21,800
01 SLHO LI 2,400 4,200 21,800
O2A & 3192 Y]
20,0002 +6Z 203 2,400
oEEE EENUE &2 220,600 247,400 226,800
201 ZEet2& ] 86,100 240,400 A 154,300
01 AtR2telt] 79,100 230,400 A151,300
OgBt==H| 79,100
o MI12CH =EHI| OHLHZM I} HIZF
6,000& 8505 5,100
oMLY 2| ABEHET M
2,000&1,0005 2,000
SN2t |E| ZEAIQ3 E2F4 ME
20,000,000& * 14! 20,000
oLNE22U7A AIEE
500,000& * 123 6,000
=932 HAE M=
200,000& %53 1,000
oAHIRIE E2E AFEGE 7Y
1,000,000 14! 1,000




A= QAR = A 1 QAR =

M Nz 29 N&

ol ZEsS Ay A EEREE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

ootlliet A28 #¢
1,000,000 14! 1,000
oYEB AN HE
40,000,000 *14] 40,000
ox=EY Y| 150,000& 202! 3,000
02 E2324H| 7,000 10,000 23,000
O2l3|¢&EHl RAIE==HI
7,000,000 14! 7,000
202 Ot 2,100 3,000 2900
01 =WHO4b| 2,100 3,000 A900
Oodes g2 Hz+E
20,000 *3H*353] 2,100
308 AXIHMSO0I& 126,400 126,400
13 I 2SO E &R E A 126,400 126,400
OomE=s XAz 82
4,000,000& *202] 80,000
OojH&s AHYMM 22
2,000,000&*103! 20,000
OX<EAHOI=TVel 2l O|0IKl &1
2,200,000& *12& 26,400
405 KHHE SH| 6,000 4,000 2,000
01 XL = SF S| 3,000 0 3,000
OZZE Jibllet alx F#¢
3,000,000 14! 3,000
02 EA 3,000 4,000 A1,000
OoslEMz S
3,000,000 14 3,000
9|3 EMHIOIX 24 6,600 23,400 A 16,800
201 2| 6,600 23,400 A 16,800
02 23244l 6,600 23,400 216,800
OAIZEH| Xl 6,600
oZHO0IX ¥ 3IoE AAE RXE=
550,000& 123 6,600
Y 2AAHI(2SIAIR =) 2,585,284 2,504,969 80,315
QI A 2,511,779 2,426,344 85,435
SRR CIHHIXIZ 2,511,779 2,426,344 85,435
101 @124t 2,511,779 2,426,344 85,435
01 £ 2,400,370 2,323,095 77,275
OoJ12a 1,652,322
o UBHA 1,545,692
45 (A S) 96,030,000& x1H 96,030
-55(HS) 85,054,000 & x2H 170,108
o= 4,332,500 8128 415,920
= 3,439,200& 198« 123 784,138
8= 2,208,2002 +3E~ 123 79,4%




A2 BN SN 1 BN
. HY2IHUI(2SAIRS)
el i Eg| (St &)
AR 2A BB GRS - IRAY - BES A
S 106,630
32+ 106,630,000& *50%*23] 106,630
O=g 264,413
oAzZt2e+¢(0|2,58)
11,3192 +32ZF +28A| 2H+ 123 121,702
o™ 53,856
=S 53,856
— <A 40,0002 *33Z Q0%+ 122 14,256
P E 100,000 33 *70%+ 122 27,720
—JIEE 20,0003 *33H * 150%+ 12& 11,880
oZdI2gIt=
00,00021+302» 128 36,000
oliezed +Y
106,630,000& *33Z *4.. 1%+20% 28,855
=J|lsd8 =% 30,0002 * 18 =123 360
<JIsEdEE =2 K3
30,0003 x 1« 12& 360
cBHIRH = 50,0003 =2« 12& 1,200
oEYUR E 22,080
QA=Y 22,080
-4z 100,000 x1H* 12 1,200
-5 80,0002 2%« 123 1,920
-62 60,0002 x8H*12& 5,760
-7-92 50,000 228 12& 13,200
g Al 140,0002 33123 55,440
HESIHI 106,630,000 x60%*23] 127,956
It A 128,808,000 *86%+1/30+20 73,850
bSESY Falall 1,882,987,000&*1. 7% 32,01
HZE X 75,900
Sl 400,000& x1H 128 4,800
=52 250,000 x2H * 122 6.000
Slo= 185,000 8% » 123 17,760
78 180,0002 x 19« 123 41,040
=85 175,000& »3H 123 6,300
AW 118,478
oSS2 (& 20% OILH)
3,328,000 «8H *172. 5% 45,927
oASZ (& 20%60%)
3,328,000 * 12 *125% 49,920
oBSZ2 (& 60%~90%)
3,328,000 *8H 85% 22,631
02 JIEtA B 111,409 103,249
OJl2=(83g) 58,262
o=8 3,991,000 x 1B+ 122 47,892




A= QAR = A 1 QAR =
. HY2AAU(ZIAMR=
ohel: oI 23| (e &)
AR .2 . HEH. t:}_?_|(§|)1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
&= - FA-SS - = = S = O &0t ==
oZdI2aY 3,991,000 *50%*23| 3,991
=JERY 1,632
- BH Xt 40,0002 *1H Q0%+ 123 432
I 100,000 *1H »70%* 123 840
- JIEPIHS 20,0002 *1H *150% 122 360
o&dZFEINZ 100,000 x1H 123 1,200
oAlIZt?l 22
10,5563 *28A| 2Hx 1B+ 123 3,547
O=c|Z= 4| 11,459
o Z Az AlH| 140,000& *1H x 122 1,680
o HEFIHI 3,991, 0002 +60%*23] x 14 4,790
o HIIE A 3,991,0002 «86%+1/30+20 2,289
oHelaEt| 50,0003 x 1« 12& 600
oXgEXH| 175,000& x1E + 122 2,100
OX I b| 58,962,000 *1. 7% 1,003
Odumaza 3,532
cASE 2,825,000 1B *125% 3,632
OJl2= (LI 31,335
o XZAIZHIEADINl Ot=
25,899,000&*1H 25,899
=JERY 1,632
HH < Xt 40,0003 * 13 »00%* 123 432
I 100,000 * 1B »70%* 123 840
- JIEPIHS 20,0002 *1H *150% 122 360
oAZRA2RE
11,3192+ 1H+28A1 2+ 128 3,804
O=c|=4t| 5,35
oo A=E 50,0003« 1« 128 600
o Z Az AlH| 140,000& 1E + 122 1,680
o IS A 2,158,250 #86%+1/30+20 1,238
SENF=1SES]
175,000 *35/40A1 2+ 124+ 128 1,838
OX <Ml 27,137,000 *1. 7% 462
[2ZHl 73,505 78,625 A5,120
JlE2Zl 73,505 78,625 25,120
201 Let23| 22,525 22,525 0
01 ArR2eltl 18,500 18,500 0
Oget=2| 11,300
SARIDIAZE 350,000 %105 3,500
oA 24| 250,000& =123 3,000
oHHAIREE 7 400,000 128 4,800
o=l 7,200




A= OISR
Ho: BHSAPH|(FMPR)

SoT oo

A 1 QIR =

=l Jl=3H| (Gt H2)
A2 2N - FB - O9(E) - HIRAY - BES Ofl b Ce HDS2
SolEenas 2Al|
8,000 x 15«5« 12& 7,200
02 3324l 4,025 4,025 0
O3=23 £ HMAl 4,025
oREZ 3,620 x2505 905
o0lsdet Y LBtMsZ
260,000& =123 3,120
202 o4t 12,600 15,120 A2,520
01 =WHO4 bl 12,600 15,120 A2,520
OJ |28 R=+30| 90,000 *28H x53] 12,600
203 PR =&H| 13,780 15,180 21,400
01 J|22H PR FA| 5,600 7,000 A1,400
OJ2A2IHRFH 5,600,000 * 14! 5,600
02 R RFAIL| 2,960 2,960 0
OFAIIHRFA 80,0003 *37H 2,960
M EA2IHRFALI 5,220 5,220 0
ORA2IHRFA 435,000& + 122 5,220
204 2= AY| 24,600 25,800 21,200
01 MR HAH| 7,800 7,800 0
OXMG AR+ B 7,800
SZ= 350,000&x 1«12 4,200
o=bg 100,000& 2H + 122 2,400
Sl 50,000 =2« 12& 1,200
02 EE=2Z| 16,800 18,000 A1,200
ouggsul(6z30l8t)
50,000 *288  12& 16,800




